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Development

1. is a comprehensive term which includes increase
in real per capita income, improvement in living standard of people,
reduction in poverty, illiteracy, crime rate, etc.

Answer/Explanation

Answer:
Explanation: Development

2. indicates the number of years a new bom is
expected to live.

Answer/Explanation

Answer:
Explanation: Life expectancy at birth



3. The development that should take place without damaging the
environment, and development in the present should not
compromise with the needs of the future generations is known as

Answer/Explanation

Answer:
Explanation: Sustainable Economic Development

4, means sustained increase in real per capita income
that promotes economic welfare by reducing poverty, unemployment
and inequalities in distribution of income.

Answer/Explanation

Answer:
Explanation: Economic development

5. Two important aspects of our lives other than income are
and

Answer/Explanation

Answer:
Explanation: Equal treatment; freedom

6. ensures availability of essential commodities like
wheat, rice, sugar, edible oils and kerosene, etc. to the consumers
through a network of outlets or fair price shops.

Answer/Explanation



Answer:
Explanation: Public Distribution System (PDS)

7. The two developmental goals of landless rural labourers are
and

Answer/Explanation

Answer:
Explanation: More days of work; better wages

8. The level of efficiency and productivity is low in a
country.

Answer/Explanation

Answer:
Explanation: Developing

9. Economic development is a wider term as compared to human
development. (True/False)

Answer/Explanation

Answer:
Explanation:
False, as economic development is a narrower term.

10. According to recent World Development Report, countries which
had per capita income of US dollar 12236 per annum are rich
countries. (True/False)



Answer/Explanation

Answer:
Explanation: True

11. Kerala has low infant mortality rate. (True/False)
Answer/Explanation

Answer:
Explanation: True

12. A decent standard of living is a variable of Human Development
Index. (True/False)

Answer/Explanation

Answer:
Explanation: True

13. Longevity implies how long a newborn is expected to live.
(True/False)

Answer/Explanation

Answer:
Explanation: True

14. The Human Development Index (HDI) rank of India in the world is
151 as per 2016. (True/False)

Answer/Explanation



Answer:
Explanation:
False, as the HDI rank of India in the world is 131 as per 2016.
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